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m Math Learning Center “HANDS ON, GRADES UP"

WEEK-IN-REVIEW 5: ExAm 1 REVIEW
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Problem 4. Find the parawetric equations of a line passing throngh the p{)itgt (1,3) }nd per-
pendicular to the lige ¢ = —32 + L.
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Praoblem 5. How much work is done by aforee of T0°N in order to tish a box T mun a ramn.
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Problem 5. How much work is done by aforee of 10 N in order to push a box 15 m up a ramp,
piven that the ramp is inclined at an sngle of 45° to the horizon?
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Problem 6. Two ropes are used o suspend a 100 Kg weightl. One rope makes an angle of 307
with the horizon while the other makes an angle of 60° with the horizon. Find the magnitude of
femsion in each rope.
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Problem 7. Find the vector equation of a line that passes throngh the points (2,3) and (4, 7).
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Problem 8. Express tamaresiin 2 ) in ferins
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Problem 9. Find the mr,t;carl *mrl hgnzcmﬁtl asy&m)tatcs ol the [unction f{z). Where is f{x)

discontinuons? When is the chf-.mﬂtmum removahlo?
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Praoblem 10. lind the following limits. if thev exists.
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Problem 10. lind the following limits, if they exists

S .
4;:‘2—3:.‘ 3 B
e TITLINL - A A L
= T3 i o s

g
= e P o_o
[ I € =
o
2(05_)"____}._‘\.’.5‘) ~% -(s—%) | x>g « ek
¥ o 1;4.
(b) Jim vaj— iUi _ (7(-" S\) (x_ g) C%P_SQ:_\
|5~x = S)
@ i  2x(x-5D) _ 2(s)(-V 0 C
XS (S-x)

+ C—X< —-;((-.-9)
e Bx0es) Ix(E) - it Ll
@ &t~ (%) (<) &

Pt |
i —“ﬂﬂr T

x>
Il‘m _"7' X = ji_ = ":3-2._ M .
X1 (—20) 21x] "Z.C—-,)’O
lrm q-x = -—ﬂ— — 1‘.:1'-_
X— o0 21x| ZCX) >

o v &+ 3%

oD
(1) ‘hrri arctan(e") . — Q\TCA-GV\ C‘Q )

= ﬂ’fCA‘ﬁv\ (oo)

% R



(i e ¥ ¢ O
(&) hmgc_;xi xr (—N)
e — 3o X o0
i |lm e — & —5
~ 3€ (-
-
o
3 3 *V\h r l\w\ v, _:g__‘q_-x = -_'lé
(s X1 20 -5
e gL - ;
(f) 11_%E‘cos(;)+5;] = O +S = (5 S
s lim % MC o MS>
X <
& nee e
lvm SYP SEr4 im X tah ) ([ﬁ-{-ﬂ) - i
X+ 0 X0 X1
* S o
O & l‘_."’:," M(x") i
\/—\(—\/

ln A= aB = \V\C'ﬁg-—)
(&) Jim [In(x* 1+ 6) ~In(2e* ~1)] oA [ (00) N |’~("°D

A b —08 e— wmdeleaminste
Jten ﬁ) Bl
X+ DR = llm K . ) O
Ane - ln -L)

(hl lim In{5* — 3)
T —F O



(1) livi In{b" — 3}

[t (Sx) *"' SPQ —» &0

K0

A ln(oe) — R

Prablem 11. Given that (32 +2) < flx) = (2% + 1) for nd lim filz). D E—Q.'ND
k ) ! ) LAl

\ (e = >
Jim (o) € [ f00 < 7, 0

c ¢ mfe) < 5
A



Problem 12. For what value(s) of & is f{x} not continuous?
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Problem 13. Usc the Intermediale Value Theorem Lo find an interval which containg the point
of intersection of the functions y — x® — 322 and y — v — 5.
DLANLEISCCHONS

'al: K?’- 2x? ‘211"" X-S
XP—2x> = x-S
X2~ Dx* _x +5 =o
—F(x)-z X — > —x 5 < Slve for e,
() = 5
fo = | —=3-\v+5 =& — Thtensed Lehsen
) = € \r-2+s = ) XK=\ and X2

n

Problem 14. ind the values of @ and & that would make f(#) continuons everywhere.
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d f'(z) for the function f(z) = /7 + =z,
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